





s TRTR T

FraEa ((MEREE)
G FH 8 FCEW










S G ERICRARIGITIE]



ANATA A NA




22 46 ¢ frdry Yo7 4TS yaw $© ? o fAB

aft Far At

fadr b7 o= @I ? AW Y6 AT L0 G s
aft s37 AfA



(S A3 (7P (O1S AT A0 AT F19 &y
T 8 MF TSEE TG T S (@89 M I
- A9, @9, I 2951



T (538







X, Y

A
B
e
f/ P
e A e
e > P
g A e
P(x, . 2)
4
i
4 9 > A
- s
zk yi
rd
= A
Q










AB BC

ABC

, AC




~l

=

—

P

fod: o9 @It fagw 7@

Ol



O 2
0 OA OB
_)0( i
R OA OB
OACB ‘
oC
"0A+ 0B =0C

P+Q0=R




ﬁj@% ANREE @I @ [ 3o oifFe v AfHEee

g I @2 [ee fearfie qfb 3@ 9 ¢ fus
A= 21 I O AR @ @fF [ 200 9o
310 (@I EA @i W9 ¢ s = 3|

B > A
/ﬁ( W
&
(Fd
m—— '

I8 T F1, O R9e 96 (©F9 P @32 Q U2 AN
A A @I fe@adie | (eg37ck &t R 2@, R 99 9iF
¢ s AR rax ARy [ w1 T







ANBAF @ AR 9 (CFEHA F4d I ¢ s
fAefee og afeeva|

B . c
Q 0/ R
a Q
o 0 a
—
0 p 0 B A D

TN BF, 0 R 76 (97 P 4= Q AR ST AT o (FIY
fFa™e | (OB A4 R X0 R I NN 8 F ANS[{E Jrad
STRICT NS <511 91

GIERRICACREE
C ™ (@ OA (FUI IS BN CD 5 BIf | |O.4T,
/BOA = /CAD =«

J4N ODC SN fa9ie OC AfowE|
0C? = 0D’ + CD?

0C? = (0A+ AD)? + CD*
R2=(P+ AD)*+CD".......... (1)



R CD

AC — SIn ¥

CD = AC sina........ (2) [AC=0B = Q]
AD

C = COS %

AD = AC cosn
AD =@ cosa........ (3)

(2) 8 (3) (O AD ]2 CD dF WIW (1) & IATT 1%,

R2={P+(Q cosa)}” + LQ sin v )
= P? + 2PQ cosa + Q*cos’a + Q amgn

— P?+ EFQ cos ax + Q° (E‘E)Hgﬁ - Hingn} — 1]
R =/P2+ Q?+2PQ cosa




dAfe e fefas

NN PF (ORI A H R (0D P I AL 6 (1Y (OfF I

tanfl = %
5 CD

()sina
P+() cosa

s tanf =

W AT (BT (T (SRLA ACY (I ¢ofd FTF ©f fAT6 A1HI
432 T35 U313 | HNAOF AT 9FA1d cosd A2 ALFAE sinb |



CHFAIE 5o 1 ©F 998

o (S N I @0 (Feirg A4 sArewr Iy o2 ¥
MG (FAF 9o I TE 9 T G2 @ T Il

T (FEIE YT I 6 JoIFe | (FlF ST A ¥ A
9o A 92 O TP Fuod (FIF cosine-«ad
REIGERRIn]

7236 (=39 AT M 6 5% () e oo 2t 20 I
QTF T Y99S I&l |




P
=1

LACosa

NNIRP 80 T30 (0hd A, OIF fBflF® IIAqUay aid
T 8 F MU 1 47, P 8 § (09730Id NOI! (1 q |

AN,

P.Q =P 93 W x @'iga Wxﬁ'@ 0 9<d WIS (PR cosine.
=|P||Q| cosa
= PQcosa ; [N o <a=<n]




S —

ai)irﬁ%e = 0}Y, O P.Q = PQcosO = PQ

90"

) M9 = 90° TV, O(I P.§ = PQcos90° = 0

_ >

) IM 9 = 180° TV, O(I P.§ = PQcos180° = —PQ




)

ey,
-

)

A

d
4 ///
//, AT //,
A
P(x,y,2)
A
4
0 xi
Fay
T Ny A
zk yi
A //,
- /

X, Y



=jicos0=1x1x1=1

joJj=jjcos0=1x1x1=1

k.k =kkcosO=1x1x1=1
.7 =ijcos90° =1x1x0=0
jl? jkcos90° =1x1x0=0

= kicos90° =1x1x0=0




S8 oI
120 (537 AT YT I @I =T A 2T O @
YA YAFCE (STF Yo I FA 9N I | @ 9JIFCETH
1 I 9207 W ¢ GIF TGS Faod (FICAF 12
(Sine) @« &= et 7l

7236 @39 AP I T o2 (X) M g +=1 27 3
AT 1 S &l 2|




g

i |

o = > 4 o
P

— -
—L L,
LCoga

NNIRP 8 030 (0pd A, OIF fBfF® SIaqUay aid
T 8 F MU 1 47, P 8 § (09770 NG (1 q |
ALHRINAIC],

Px(=P 43 N x @'Q?I'TIWXP'G J A% VKIS (FICVS sine.
=|P||Q|sina

=7 PQ Sina ; [N Oo<as<n ]




i X ] = ijsin90°(A) = k

jxk =jksin90°(d) =i

k x i = kisin90°(R) = j




R
O/,\A ?
>Q ()R=04 9o |O|OR=B0 ¢
® :i-5 ()R=48 R

® O













ﬁm‘%\ Q55 Gl =leTl Ao 4 =1,

A5 B RHCOIE AT 4




Ool7 S[NeTw Rl FIAFT bl =0 ,
(P R XU BT I 5T




015 (O BT 7R 6 T 2L
EAIIGE SRR O YELRIGITGP




wwwﬂamm




